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Q.1  Write short notes on any two:
(i) Nominal GDP and Real GDP
(i) Determinants of aggregate consumption
(iii) Investment Multiplier
(iv) Measures of money supply (72, T%2)
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Q.2 (i) Using the circular flow diagram of the three sector economy show that the sum of the private
investment and government spending equals the sum of saving and tax.
(ii) Explain the limitations of GDP as a measure of welfare.
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Q.3 Explain the income method of estimating national income. What precautions need to be taken
while using this method? (15)
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Q.4

Q.5

Q.6

Q.7

Q.8

(i) You are given the following information about the economy (all in billions of dollars)

Consumption function : C=100+0.8Yd
Taxes : T=-150+025Y
[nvestment : [ =60
Government spending g G=280

(a) Find the equilibrium income.

(b) Find the government deficit.

(c) Suppose government spending is cut by $5 billion, what is the new equilibrium income?

(d) What is the net government deficit?

(i1) With the help of a diagram derive the saving function frorm the consumption function. (10, 5)
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(i) What is the net export function? What are the factors affecting the net export function?
(it) What are the motives for holding money? (72, 7%)
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(i) Define money market equilibrium with the help of a diagram.

(i1) Explain how a decrease in the money supply affects the rate of interest in the money market?
(7,8)
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(i) Prove that the open economy multiplier is the reciprocal of the sum of marginal propensity to
save (MPS) and Marginal propensity to import.

(ii) Explain the balanced budget multiplier? 8,7
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(i) What are the functions of money?

(i1) How does the central bank control the money supply in the economy? (7, 8)
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